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Work out the following:-







Questions 6-8 put the brackets in the correct place to make the given solution.

e.g. 






Using brackets in different places find 3 other answers.

-----------------        -----------------           -----------------

*BONUS QUESTION*Re- write the sentence: add 4 to 5, multiply this by the subtraction of 3 from 6, to get an answer of 27. Using



---------------------------------------



Work out the following:-







Questions 6-8 put the brackets in the correct place to make the given solution.

e.g. 






Using brackets in different places find 3 other answers.

-----------------        -----------------           -----------------

*BONUS QUESTION*Re- write the sentence: add 4 to 5, multiply this by the subtraction of 3 from 6, to get an answer of 27. Using



---------------------------------------

oleObject1.bin

image1.wmf

oleObject2.bin

